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"' INSTRUCTIONS FOR CANDIDATES

1. Do not open the booklet unless you are asked
to do so. :

2 The Question Booklet contains 35 questions.
Examinee is required to answer all the
questions in the OMR Answer-Sheet
provided and not in the Question Booklet.
Each question carries 2 marks. There is no
negative marking.

3. Examine the Question Booklet and the OMR
Answer-Sheet very carefuliy before you
proceed. Faulty Question Booklet due to
missing or duplicate pages Of having any
other: discrepancy should be immediately
replaced.

(Remaining instructions on last page)
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I.  In Windows 10. the background of the
screen 1s known as
(A)  Application (]P)/]_)csklr)n
(C) Window (D)  Frame
2. A repair for a known sofiw
usually available at no ch
Interet, is called an) :

(A) Version m

are bug,
arge on the

Patch
(C) Tutorial (D) FAQ
3. Maich the following :
. MS-Word 2010- . Slides
[I. MS-Excel 2010%. Sheet
1. MS-PowerPoint . Document
2010
Choose the correct match from the
following :

(A) IR, TI-P, ITI-Q
(B) 1-P, IR, I1I-Q

I-R, 11-Q, IT_p
(D) I-P, TI-Q, IMI-R

4. How can you save MS Office documents
in PDF file format 2

) Select ‘Save as Type : PDF’ in Save

as option in File tab

(B) Using Voice over P

(C) By writing an e-mail

(D) By using print preview

5. What is the function of Recycle Bin ?
(A) Store temporary file
(B) Store corrupted file
JQ/ Store deleted file
(D) Store document file

6. Which among the following options
specifies this action : Holding the mouse
button down while moving an object to
the destination ?

(A) Highlighting (B)

Dropping
\9’/ Dragging (D)

Clicking
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7. Which of the following i1s not a valid
example of an Internet browser ?
(A) Google Chrome
(B) Mozilla Firefox
(C) Microsoft Edge
D) Adobe Acrobat ;
8. What is ‘PNR’ number with respect (0
Indian railway services ?
(&) Passenger Name Record
(B) Personal Name Reservation
(C) Passenger National Reservation
(D) Personal National Record
9. Which of the following "is not an
Operating System ?
(A) MS-Windows XU
(B) MS-Windows 7
(C) MS-Windows 8
(D)/ MS-Windows 9
10. How are data organized in a spreadsheet ?
(A) Lines and spaces
(B) Layers and planes
Rows and columns
(D) Height and width
11. Dot matrix is a type of :
(A) Tape (B) Disk
Printer (D) Bus
12. Which of the following arrangements is
correctly places in ascending order ?
(1) KB <MB < GB<TB
() Byte < MB <EB <PB
A1) Nibble < KB < MB < PB ~
Choose the most appropriate option from
the following :
(A) Only (D)
(B) Only (I)
(C) Both (I) and (II)
_ }Bf Both (I) and (IIT)
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5. AT

13. Which of the following is not true about
hyperlink in MS-Word 9

(A)  Hyperlinks can only be used to

create a link for

and not to

an existing webpage
an existing file on your
compuler,

(B) It can be made using the INSERT
Tab in a Word Document,

(C) The shortcut CoOmmand (o create a
hyperlink in g word document is
Cul+K,

&D) The  option ‘Place in This
Document’ is used (o refer (o a link
in the current document.

14. USB refers to :
(A) _A storage device
\(B)" A port type
(C) A processor
(D) A keyboard
15. A Website is collection of
(A) Graphics (B) _ Algorithms
(C) Programs \(E'( Web pages

16. "A(n) - IS a special visual and audio

effect applied in PowerPoint to text or
content.

\(AX) Animation (B) Text wrap
(C) Mailmerge (D)  Preview
17. Which one of the following is not an
e-mail service provider ?
(A) Hotmail Bing
(C) Outlook (D) Gmail
18. Why do you log off from your computer
when going out from your office ?
MSomeone might steal your files,
password, etc.
(B) Logging off is essential to increase
performance
(C) Logging off is mandatory before go
out
(D) Logging off is necessary for saving
the current documents.
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19T IS an innovative e-Governance

project to empower the residents of the

State by providing transparent and

accountable means of grievance redressal,

e

JA) Rajasthan Sampark

(B) Raj Megh

(C) Raj Dharaa

(D) Raj eVault

Which of the following is not correct

statement regarding Aadhaar ?

(A) Enrollment of Aadhaar card is free
of cost. ,

(B) Aadhaaris a 12 digit unique-identity
number issued to all Indian residents.

\/(AC{ Update in the Aadhaar card is not
possible.

(D) Unique Identification Authority of
India (UIDAI) maintain the Aadhaar
data. ;

.................. service on you phone is

beneficial for finding out where you are

on a map and navigation.

20.

21.

(A) WiFi (B)  Bluetooth
GPS (D) Infrared
22. The process of copying files to a CD is
known as :
(A) Storing (B) Copying
) Buming (D) Pasting
23. Which of the following is the

disadvantage of cache memory ?
e — e
(A) Cache memory is faster than the
" main memory
It. consumes less access time as
compared to main memory
It stores data for temporary use
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24. Which of the l‘ollnwing
in MS-Word 2010

alignment option
aligns cach line of the
paragraph between left and right margins,
and produces straight edges on both left
and right cdges ?
(A)  Center

(C) Left

\/(B‘)/ Justify

(D)  Right
25. In MS-Word, ‘Gutter’ i1s related to :
(A) Orientation (B) Page size
\(©)” Margins (D)  Equation

26. The part of a computer that coordinates

all its functions, is called its !
(A)
(B)

(C)
(D)

27. What is the meaning of acronym Gbps ?

ROM program
System board
Arithmetic logic unit "

Control unit

(A) Good bits past secure
(B) (5r€;t—bits previous secure
(C) Global bits public secure
_®7 Gi ga bits per second
28. Which of the following has the least
storage capacity ?

Floppy disc (B) CD
(©) DN (D) Hard disc
29. In MS-PowerPoint, we can run slide show
from beginning using .............. key and
from current slide using ............ key.
(A) B8 FJ (B) F6, F8

(C) F7, Shift+F7 9/F5,Shift+F5
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30. Suppose YOU want to ensure that 4
worksheet in MS-Excel 2010 prints on
One page wide by any number of pages
tall. Which setting would you use ?
(A) _Fit Sheet on One Page
Fit All Columns on One Pugc-

(C) Fit All Rows on One Page
(D) No Scaling
The total number of function keys on the
keyboard is :
(A) 11
@ 13
32. Which view is

rearranging slides in MS-PowerPoint ?

\ ﬁ; Slide Sorter  (B)

(C) Normal (D)
33. Amazon.com provides :
(A) Business to business E-Commerce
environment
; @/Business to customer E-Commerce
environment
(C) Customer to customer E-Commerce
environment
(D) None of these

\(Pf)/ 12

D) 14

most suitable for

Notes Page
Slide Show

4. wme. is the actual value of the data
points in a chart of MS-Excel 2010.
(A) dlines (B) Legend

) Data Label (D) URL
35. A barcode reader is an example of :
(A) Processing device
\)B’)/ Input device
(C) Storage device
(D). Output device
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10.

LE

Four alternative answers are mentioned for
each question as (A), (B), (C) and (D) in the
Question Booklet. The candidate has to
choose one correct answer of the question
and mark the same in the OMR Answer-Sheet
as per example given below :

For Example :

Question :
1'w ® © 6
2. & ® & ©

lllegible answers with cutting and over-
writing will be cancelled.

In case the Candidate does not fill the
appropriate circle in the Answer-Sheet and
leaves blank, “Zero’ mark will be given.

The candidate has to mark answers carefully
as per instructions on the OMR Answer-
Sheet with black or blue ball point pen only.

Strict instructions are hereby given to the
examinee to refrain from correction of their
earlier marked answer in OMR by rubbing or
scratching or using white fluid. In case of
violation of this instruction, examinee’s
result may be detained or the examinee may
be declared disqualified in the exam:

The examinee shall hand over original OMR
Answer-Sheet to the invigilator and can take
carbon copy of the OMR Answer-Sheet and
Question Booklet with himself/herself.

Write your Roll Number and other required -

details in the space provided on the title
page of the Question Booklet and on the
OMR Answer-Sheet with ink pen or ball pen.
Do not use lead pencil.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

All the questions are bilingual. In case of any

discrepancy the question in English version
shall be treated as correct.
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